80 English (Precis & Composition)

CSS 1988

Q.2. Read the following passage and answer any two questions given at the end: (20)

Another intellectual defect of almost all teaching, except the highest grade of
university tuition, is that it encourages docility and the belief that definite answers are known
on questions which are legitimate matters of debate. | remember an occasion when 3
number of us were discussing which was the best of Shakaspeare’s plays. Most of us were
concerned in advancing arguments for unconventional opinions but a clear young man, who
from the elementary schools, had lately risen to the university, informed us, as a fact of which
we were unaccountably ignorant, that Hamlet is the best of Shakespeare's plays. After this
the subject was closed. Every clergyman in America knows why Rome fell; it was owing to
the corruption of morals depicted by Juvenile and Petronius. The fact that morals became
exémplary about two centuries before the fall of the western Empire is unknown or ignored.
English children are taught one view of the French Revolution, French children are taught
another; neither is true but in each case it would be highly imprudent to disagree with the
teacher, and few fell any inclination to do so. Teacher ought to encourage intelligent
disagreement on the part of their pupils, even urging them to read books have opinions
opposed to that much education consists in the instilling of unfounded dogmas in place of
spirit of inquiry. The result, not necessarily from any fault in the teacher, but from curriculum
which demands too much apparent knowledge with a consequent need to haste and

definitions.
Questions:
1. What is the main defect of teaching? Describe in your own words.

2 What are the causes of the instilling of unfounded dogmas in the mind of students?
3. Briefly describe the main points presented by the writer of this passage.
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Limit answers to 4-6 lines. Use your own vocabulary as much as possible, without borrowing phrases from the original passage.
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You mentioned two causes.
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